LONDIANI JOINT EXAMINATION 231/3 MARKING SCHEME

Question 1

L – mammalia
Body is covered with fur

K – Aves

Has a beak

Body covered with feathers

E- dorsal fin

F – Operculum

G – Pectoral fin

ii.       -  Overlaps facing backwards to reduce friction for the fish as it moves in water

Covered with mucus to reduce friction for the fish as it moves in water
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ii) Allow for forward propulsion of fish in water.

2a) 

	Test tube 
	Observation 

	A 
	No effervescence/no bubble production /No foam production 

	B
	High effervescence rate/high rate of bubble formation 

	C 
	Little effervescence/ bubble formation/little foam formation.


Reject no reaction 

b) No effervescence /bubble formation/form formation because boiling denatured the enzymes (catalase enzyme) hence hydrogen peroxides, was not broken down into water, and oxygen gas.

c) Test tube B, because crushing of the cube increased the surface area for proper enzyme (catalase) action hence a high volume of hydrogen peroxide was broken down into water and oxygen compared to the cube in test tube c  which has a small surface area expose to the hydrogen peroxide solution.

d) PH, enzymes and substrate concentration contraction, enzyme inhibitors, co-enzymes and co-factors.
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b) Type of fruit
Berry 1mk

Reason 
has many seeds
1mk

Agent 
Animal
1mk

Reason 
brightly coloured; scented; fleshy; large; first 
2mk


Axile;
1mk

Ethylene/ ethyne;
1mk
